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Fun - Y- iR - K& 2FE B

1 755 %%‘75 'H& 2%+ 51 1394 &5 22 3FEA
2 7163 ANl A— 3Ft 52 1405 W% #E 2 FEA
3 766 A% BH  3F% 53 1531 JIlE iRE 2 BRI
4 7151 = EE  2F+ 54 2039 EH =T 3 BRI
5 818/ EaL 2 NI 55 2045 BFE &= 3 BA%T
6 1517 K& i5d 2 PEAMAE 56 1528 XA E 2 BRI
7 1441 EB)| Eth 3 AMFRR 57 2040 BiE IS 3 BRI
8 1445 kB B3 3 AR 58 1553 A B 1 BA%
9 1453 ME| B 2 FLN R 59 1526 #rE  Fkt 2 BRI
10 1452 2K [BM 2 AR 60 1530 AR & 2 BRI
11 1443 S 2K 3 AR 61 1542 8 F fBA 1 BA%
12 1466 152 % 2 AR 62 2036 Tt EH 3 BRI
13 1463 k3 B 2 AR 63 1536 = KZ 1 BA%
14 1448 % K8 3 AR 64 1534 FiT =g 2 BRI
15 1434 ¥t EIR 1 LN 65 2042 /plEF  EK 3 B
16 1446 #AFF KHE 3 SRR 66 1527 #B7E Bk 2 BRI
17 1450 £ OBt 2 JuMZERR 67 1532 Ak A 2 BRI
18 1465 BA HiKk 2 AMERR 68 1535 BAF t4E 2 BRI
19 1423 kA & IERLES 69 1549 %O &AM 1 BAH
20 1444 AEH X0 3 Jui s 0 1119 FM &5 1 B5RET
21 1464 FEh #E 2 UMFR 71 1117 &30 ﬁ*ff& 2 BREET
22 1442 A& {E5h 3 AMFRR 72 1124 A @A 1 BREET
23 1449 zF 2 AR 73 1125 @iE 1BE 1 BRET
24 157 ;i BEAER 1 BEAT 74

25 114%E=E B 2BEART 75

26 173 WWF B 28EAT 76

27 166 1L A= 3 BEAT 17

28 161 EM {88 = 3 AT 78

29 155 @)l BEX 1 AT 79

30 154 #EA B 1A 80

31 152 E¥ &3} 1 BEART 81

32 119RE ZBE  28EAI 82

33 177WUF #AE 2 f&8AT 83

34 17688  F 2 BEAT 84

35 170 A0 #EXK 2 AT 85

36 16244k = 3 BEAT 86

37 151 #B& HE 1 AT 87

38 171 8N £A 2 BEAT 88

39 84tk WA 2= 89

40 1396 YEE (- 3FEE 90

41 1395 3Em R 3 FEA 91

42 1401 BE# B 2 FEA 92

43 1397 &M@ #t 3 FEA 93

44 1399 R A¥ 2 FRA 94

45 1402 B HiE 2 FEA 95

46 1400 AfEA #IZE 2 FEA 96

47 1398 k<K BF 3 FTREA 97

48 1403 4B =% 2 FRA 98

49 1404 BE B 2 FRA 99

50 1391/ 4tKER 3 FEA 100




